H.W. #6 EE 220 Spring 2017
Show your work for credit!

1. Find the voltages and currents in each of the following circuits using mesh analysis.
Verify your hand calculations using LTspice. (8 points)

V2
Vs ™ X m Vy Vs R X R3 Vy
U AVAY
Vi 4.5k Vi 4.5k 9k V2
Rz % R2
4.5k Ll
- 4.5k
9V n 9V 9V
(a) (b)

R1

R3
Vs X /\/\/ Vy Vs R X m Vy
| +

V1 4.5k 4.5k V2 VA1 4.5k \\./Vz

R2 R2 18V R3

4.5k 4.5k 4.5k
9V 18V Vv

(c) (d)

2. Repeat problem 1, but no need to repeat the LTspice simulations, using superposition. (8
points)

3. Find the Thevenin and Norton equivalent circuits for the circuitry to the left of the two
terminals marked with red dots below. Show that Vout is the same for: 1) the circuit seen
below, 2) the Thevenin equivalent circuit connected to R3 and 3) the Norton equivalent
circuit connected to R3. Verify your answers with three LTspice simulations. (3 points)
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